

City of Grand Island

Tuesday, December 23, 2003 Council Session

Item G16

#2003-391 - Approving Change Order #1 for Suck's Lake Renovation

The Park and Recreation Department in conjunction with the Public Works Department has developed Change Order #1 to the contract for the Sucks Lake Restoration/Cottonwood Lake Dredging Project. The contract was awarded to General Excavating of Lincoln, Nebraska, on March 24, 2003 in the amount of \$414,080.87. The net decrease of Change Order #1 is \$24,360.12 which allows for a decrease in the amount of material dredged from the two lakes. The revised contract amount will be \$389,720.75. Approval is recommended.

Staff Contact: Steve Paustian & Steve Riehle

City of Grand Island City Council

RESOLUTION 2003-391

WHEREAS, on February 18, 2003, by Resolution 2003-58, the City of Grand Island awarded the bid for Suck's Lake renovation to General Excavating of Lincoln, Nebraska; and

WHEREAS, it has been determined that modifications to the work to be performed by General Excavating are necessary; and

WHEREAS, such modifications have been incorporated into Change Order No. 1; and

WHEREAS, the result of such modifications will decrease the contract amount by \$24,360.12 for a revised contract price of \$389,720.75.

NOW, THEREFORE, BE IT RESOLVED BY THE MAYOR AND COUNCIL OF THE CITY OF GRAND ISLAND, NEBRASKA, that the Mayor be, and hereby is, authorized and directed to execute Change Order No. 1, between the City of Grand Island and General Excavating of Lincoln, Nebraska to provide the modifications specifically identified on the document marked Exhibit "A" attached hereto.

- - -

Adopted by the City Council of the City of Grand Island, Nebraska, December 23, 2003.

RaNae Edwards, City Clerk

EXHIBIT "A"

City of Grand Island 100 East 1st Street Grand Island, Nebraska 68801

CHANGE ORDER NO. 1

Date of Issuance: October 31, 2003

Bid Item No.				
5	36" Reinforced Concrete Pipe. Pipe increased 5 lf to get proposed pipe around existing trees to be protected.	5 If @ \$70.52	Add	\$352.60
6	24" Reinforced Concrete Pipe. Pipe increased 5 lf to support installation of Flared End Sections without placing a concrete collar.	5 If @ \$41.18	Add	\$205.90
7	18" Reinforced Concrete Pipe. Pipe increased 33 If to extend the existing Suck's Lake overflow through the detention cell dam.	33 lf @ \$29.80	Add	\$983.40
8	15" Reinforced Concrete Pipe. Pipe increased 1 If to move proposed area inlet the maximum distance from the entrance road for proposed parking lot.	1 If @ \$26.76	Add	\$26.76
16	Place 5" Concrete Apron. Concrete apron decreased 53 sf because of realignment of proposed apron centerline.	53 sf @ \$3.82	Deduct	\$202.46
21	Remove and Replace 6" P.C. Concrete Trail. Quantity increased 125 sf to keep removals at 10' joints in the existing trail.	125 @ \$4.00	Add	\$500.00
22	Remove and Replace 8" Asphalt Trail. Removal quantities increased due to the entrance and parking lot at the Parks Building being paved after the project was designed and bid.	178 sf @ \$4.00	Add	\$712.00
25	Vinyl Sheet Piling - 10' Long - Series 550 w/Wood Cap. Measured quantity was 288 lf.	12 If @ \$142.03	Deduct	\$1704.36
27	Seeding and Mulch. Deduct .5 acres of seeding and mulch along the south bank of Suck's Lake. Replaced with sod, see new Bid Item #38.	.5 acre @ 1,265.00	Deduct	\$632.50
31	Dredge Suck's Lake. Change bid price from \$4.43 per CY to \$4.83 due to actual dredging quantity less than 80% of planned. Bid price reflects actual dredging quantities of 9,250 CY vs. 20,000 CY as planned.		Deduct	\$43,922.50
32	Dredge Cottonwood Lake. Change bid price from \$4.53 per CY to \$4.81 due to actual dredging quantity less than 80% of planned. Bid price change reflects actual dredging quantities of 14,111 CY vs. 20,000 CY as planned.		Deduct	\$22,726.09
New Bid Item No.				
33	Install galvanized deadman supports along the vinyl sheet piling on Suck's Lake.	\$5,423.20	Add	\$5,423.20
34	Remove 5 LF of 24" clay tile pipe and install 7.5 LF of 24" RCP, 1-24" FES and 1-24" concrete collar. The existing clay pipe ended under the trail and will be extended to the waters edge.	\$2,448.23	Add	\$2,448.23
35	Install 8 LF of 30" CMP with 30" coupling and FES. Extend existing 30" CMP in the new detention cell to match the location and slope of the detention cell wall.	\$1,830.00	Add	\$1,830.00

EXHIBIT "A"

36	Cut and remove 2 LF of 18" CMP. Install 10 LF of 18" CMP with 18" coupling and FES. Extend existing 18" CMP in the new detention cell to match the location and slope of the new detention cell.	\$1,999.50	Add	\$1,999.50
37	Remove and lower 500 LF of existing asphalt trail to support reshaping the south bank of Suck's Lake and to reduce erosion of the south bank.	\$20,519.45	Add	\$20,519.45
38	Place 27,600 sf of bluegrass sod on the south bank of suck's Lake to reduce bank erosion. Replaces .5 acres of seeding. Paid as Lump Sum.	\$7,728.00	Add	\$7,728.00
39	Place approximately 208 CY of concrete Rip-Rap along the south bank of Suck's Lake to stop wind erosion of the bank. Paid as Lump Sum.	\$2,098.75	Add	\$2,098.75